
FOR EDUCATIONAL



furniture

Armillaria
Fura
Gumball
Jetlag
Momo
Sat
T ball

10
11
7
6
12
14
8

Godot
Gradient
Lapsus

17
15
16

complements&pots

base elements
standard finishings

top finishings

technical data

Coccodrillo
Gumball junior
Plust van
Pony

18
8
19
18

junior

21
22
23



4 — 5 PLUST for Educational

PLUST Collection was established in 2006 as an euro3plast Spa 
design brand, a leading manufacturer of traditional pots
distributed throughout the world with a certified production
and entirely Made in Italy.
The PLUST Collection project investigates plastic materials’
possibilities with a new vision for the concept of king-size
pots, furniture and lights that begins from its disposition in
the environment: all projects indeed fit in both indoor and
outdoor spaces.

about

Euro3plast headquarters

Rotational moulding division

Environment management system 
(UNI EN ISO 14001:2015)

Quality management system
(UNI EN ISO 9001:2015)

Safety management system 
(OHSAS 18001:2007)

Warehousing



6 — 7 PLUST for Educational

70 62 72

175 145 42

jetlag chair

STRUCTURE
basic colour

6293

PE - Polyethylene

86N4 87C2

jetlag

STRUCTURE
basic colour
PE - Polyethylene

6291

86N4 87C2

GUMBALL FAMILY design Alberto Brogliato

STRUCTURE
basic colour
PE - Polyethylene

G9 87N4N2M9C2C2

6246

gumball sofa

STRUCTURE
basic colour
PE - Polyethylene

G9 87N4N2M9C2C2

6263

165 88 66

92 86 65

gumball armchair

JETLAG design Cédric Ragot

special finishing
PE - Soft with little balls

6243

98



8 — 9 PLUST for Educational

t ball

STRUCTURE
basic colour
PE - Polyethylene

G9 N4N2M9C2

6248

basic colour

A4261

PE - Polyethylene

C2

N4N2M9G9 87

TOP

63

87

77 77 33

WOOD 

A4263

birch

GUMBALL FAMILY JUNIOR design Alberto Brogliato

STRUCTURE
basic colour
PE - Polyethylene

B3 4311C2C1A2

6292

special colors
PE - Polyethylene

6292

gumball sofa junior

STRUCTURE

122 65 49

70 64 49

74

N6 L7 N8 N9N7 P0

P1 P2 P4 P5P3 P6

basic colour
PE - Polyethylene

B3 4311C2C1A2

6302

special colors
PE - Polyethylene

6302

special finishing
PE - Soft with little balls

6303

98

74

N6 L7 N8 N9N7 P0

P1 P2 P4 P5P3 P6

gumball armchair junior

special finishing
PE - Soft with little balls

6296

98



10 — 11 PLUST for Educational

ARMILLARIA design Odo Fioravanti

35 35 75

armillaria stool

N4G9C9C2 87

STRUCTURE
basic colour

6249

PE - Polyethylene

63 63 96

TOP

armillaria table

STRUCTURE
basic colour

6250

PE - Polyethylene

N4G9C9C2 87

WOOD 

A4262

basic colour

A4260

PE - Polyethylene

N4G9C9

C2

87

63

birch

FURA design Form Us With Love

34 34 75

38 38 97

fura table

STRUCTURE
basic colour

6295

PE - Polyethylene

L4 M9 87C2

TOP
basic colour
HPL

A4468
A4463

A4469
A4464

fura stool

STRUCTURE
basic colour

6294

PE - Polyethylene

L4 M9 87C2

60

60x60

60

60x60



12 — 13 PLUST for Educational

156 66 32

34 21 15

MOMO design Alessandro Gnocchi

momo

STRUCTURE
basic colour

6412

PE - Polyethylene

N4 87C2

FEET
basic colour

A4651

A6 87A5 A7

PE - Polyethylene

N2

standard combinations



14 — 15 PLUST for Educational

SAT design Marco Zito

57 40 66

sat

STRUCTURE
basic colour
PE - Polyethylene

+ HPL TOP

basic colour
PE - Polyethylene

+ WOOD TOP

6297

+
G9C2

6298

+
G9C2

6271

+
G9C2

birch

GRADIENT design Mut Design

160

180

36 40 160

36 40 180

gradient 160-180

STRUCTURE
basic colour

6273 - GRADIENT 180

PE - Polyethylene

6272 - GRADIENT 160

C2 86A2 B7



16 — 17 PLUST for Educational

LAPSUS design Eddy Antonello + Alberto Fabbian

lapsus

STRUCTURE
basic colour

6260

PE - Polyethylene

86C2A9

40 40 197

GODOT design Alberto Brogliato

43 40 176 

STRUCTURE
basic colour

6261

PE - Polyethylene

C2 G9

END
basic colour
PE - Polyethylene

A4315

C2 G9D7 8786

5,5 5,5 3

godot



18 — 19 PLUST for Educational

A6 11A9A2 86

121 29 34 

COCCODRILLO design A.M. design office

coccodrillo

STRUCTURE
basic colour

6393

PE - Polyethylene

12133

34
9

298

C1 C2

B1

80 40 60

PONY design Oleg Pugachev

pony

STRUCTURE
basic colour

6395

PE - Polyethylene

C1 C2

80

60

40

PLUST VAN design Michele Menescardi

A6

11

N4C1A2

74 86

plust van

STRUCTURE
basic colour
PE - Polyethylene

+ WHEELS

6341 

A6

11

N4C1A2

74 86

6354 

C2

+

+ birch

70 49 42

84

60
60

178

60
60

180

49
49

37

73 73

37

73 73

19

20 33

77

78 165

19

20 33

77

78 165

74

3737

77

78 85

101

8151

101

8151

77

78 85

12,5

14,5 21

42

49 70

48

60
60

A6 A9A2

+ TOP

C2

+ TOP

C2



Armillaria Stool
Armillaria Table 
Fura Stool
Fura Table
Godot
Gradient 160-180
Gumball Armchair
Gumball Sofa
Jetlag
Jetlag Chair
Sat

A4601

base elements

4Kg

x3
DETAILS

3 Dried sand kit Kg. 12

Ground fixing kit

Armillaria Stool
Armillaria Table 
Fura Stool
Fura Table
Godot
Gradient 160-180
Gumball Armchair
Sat

A4461

DETAILS
SCHEMA DI MONTAGGIO DEL KIT DI FISSAGGIO A TERRA / ASSEMBLY INSTRUCTIONS FOR GROUND FIXING KIT 

SCHÉMA D'ASSEMBLAGE DU KIT DE FIXATION AU SOL / ESQUEMA DE MONTAJE DEL JUEGO DE FIJACIÓN EN EL SUELO

Elementi
Components
Éléments
Elementos:

Base di stabilizzazione (A)
Stabilizer base (A)

Base de stabilisation (A)
Base de estabilización (A)

Vite autofilettante (B)
Self-tapping screw (B)

Vis auto-taraudeuse (B)
Tornillo autorroscante (B)

Tassello (C)
Screw anchor (C)

Cheville(C)
Taco (C)

Tappo metallico (D)
Metal cap (D)

Bouchon métallique (D)
Tapón metálico (D)

Con l’ausilio di un trapano, eseguire 3 fori 
sulla superficie o pavimentazione dove si 
vuole fissare l’articolo.

Drill 3 holes on the surface or floor in the 
desired position for the pot.

À l'aide d'une perceuse, réaliser 3 trous dans 
la superficie ou le revêtement de sol où vous 
désirez fixer l'article.

Con la ayuda de un taladro, realizar tres 
agujeros sobre la superficie o el suelo, 
donde se desea fijar el artículo.

Inserire nei fori praticati i 3 tasselli 
e fissare la base con le 3 viti 
in dotazione.

Insert the 3 screw anchors in the holes 
and fix the base with the 3 screws 
provided. 

Enfoncer 3 chevilles dans les trous 
réalisés et fixer le socle à l'aide des 
3 vis fournies.

Introducir los tres tacos en los agujeros y 
fijar la base con los tres tornillos de serie.

Avvitare il tappo metallico sul fondo 
del vaso con l’aiuto di una moneta.

Use a coin to screw the metal cap 
into the hole in the bottom of the pot. 

Visser le bouchon métallique sur le 
fond du vase à l'aide d'une pièce 
de monnaie. 

Enroscar el tapón metálico en el fondo 
del macetero con la ayuda de una moneda.

Avvitare il manufatto plastico sul perno filettato 
della base di stabilizzazione come indicato 
nel disegno. Quando il manufatto plastico va in 
appoggio al suolo, non compiere più di 2 giri 
(non forzare).

Screw the plastic pot onto the threaded pin on 
the stabiliser base as illustrated. When the 
plastic object is positioned on the ground, 
do not rotate more than twice (do not force it).

Visser le vase en plastique sur la tige filetée du 
socle suivant les instructions du dessin. 
Quand la partie en plastique touche le sol, ne 
pas faire plus de 2 tours (ne pas forcer). 

Enroscar el componente de plástico sobre el 
perno roscado de la base de estabilización 
como se indica en el dibujo. Cuando el 
componente de plástico se apoya en el suelo, 
no dar más de dos vueltas (no esforzar).

Capovolgere l’articolo e, utilizzando un 
cacciavite, svitare il tappo filettato in plastica 
trasparente (materiale PC) al centro del fondo.

Turn the pot upside down and use a 
screwdriver to unscrew the threaded clear 
plastic (PC) cap from the centre of the bottom. 

Retourner le vase et, à l'aide d'un tournevis, 
dévisser le bouchon fileté en plastique 
transparent (en matière PC) au centre 
du fond. 

Girar el artículo y desenroscar el tapón 
roscado de plástico transparente 
(material PC) en la parte central del fondo 
usando un destornillador.

A

A

D

B

C

ET365 10/2014

SCHEMA DI MONTAGGIO DEL KIT DI FISSAGGIO A TERRA / ASSEMBLY INSTRUCTIONS FOR GROUND FIXING KIT 
SCHÉMA D'ASSEMBLAGE DU KIT DE FIXATION AU SOL / ESQUEMA DE MONTAJE DEL JUEGO DE FIJACIÓN EN EL SUELO

Elementi
Components
Éléments
Elementos:

Base di stabilizzazione (A)
Stabilizer base (A)

Base de stabilisation (A)
Base de estabilización (A)

Vite autofilettante (B)
Self-tapping screw (B)

Vis auto-taraudeuse (B)
Tornillo autorroscante (B)

Tassello (C)
Screw anchor (C)

Cheville(C)
Taco (C)

Tappo metallico (D)
Metal cap (D)

Bouchon métallique (D)
Tapón metálico (D)

Con l’ausilio di un trapano, eseguire 3 fori 
sulla superficie o pavimentazione dove si 
vuole fissare l’articolo.

Drill 3 holes on the surface or floor in the 
desired position for the pot.

À l'aide d'une perceuse, réaliser 3 trous dans 
la superficie ou le revêtement de sol où vous 
désirez fixer l'article.

Con la ayuda de un taladro, realizar tres 
agujeros sobre la superficie o el suelo, 
donde se desea fijar el artículo.

Inserire nei fori praticati i 3 tasselli 
e fissare la base con le 3 viti 
in dotazione.

Insert the 3 screw anchors in the holes 
and fix the base with the 3 screws 
provided. 

Enfoncer 3 chevilles dans les trous 
réalisés et fixer le socle à l'aide des 
3 vis fournies.

Introducir los tres tacos en los agujeros y 
fijar la base con los tres tornillos de serie.

Avvitare il tappo metallico sul fondo 
del vaso con l’aiuto di una moneta.

Use a coin to screw the metal cap 
into the hole in the bottom of the pot. 

Visser le bouchon métallique sur le 
fond du vase à l'aide d'une pièce 
de monnaie. 

Enroscar el tapón metálico en el fondo 
del macetero con la ayuda de una moneda.

Avvitare il manufatto plastico sul perno filettato 
della base di stabilizzazione come indicato 
nel disegno. Quando il manufatto plastico va in 
appoggio al suolo, non compiere più di 2 giri 
(non forzare).

Screw the plastic pot onto the threaded pin on 
the stabiliser base as illustrated. When the 
plastic object is positioned on the ground, 
do not rotate more than twice (do not force it).

Visser le vase en plastique sur la tige filetée du 
socle suivant les instructions du dessin. 
Quand la partie en plastique touche le sol, ne 
pas faire plus de 2 tours (ne pas forcer). 

Enroscar el componente de plástico sobre el 
perno roscado de la base de estabilización 
como se indica en el dibujo. Cuando el 
componente de plástico se apoya en el suelo, 
no dar más de dos vueltas (no esforzar).

Capovolgere l’articolo e, utilizzando un 
cacciavite, svitare il tappo filettato in plastica 
trasparente (materiale PC) al centro del fondo.

Turn the pot upside down and use a 
screwdriver to unscrew the threaded clear 
plastic (PC) cap from the centre of the bottom. 

Retourner le vase et, à l'aide d'un tournevis, 
dévisser le bouchon fileté en plastique 
transparent (en matière PC) au centre 
du fond. 

Girar el artículo y desenroscar el tapón 
roscado de plástico transparente 
(material PC) en la parte central del fondo 
usando un destornillador.

A

A

D

B

C

ET365 10/2014

SCHEMA DI MONTAGGIO DEL KIT DI FISSAGGIO A TERRA / ASSEMBLY INSTRUCTIONS FOR GROUND FIXING KIT 
SCHÉMA D'ASSEMBLAGE DU KIT DE FIXATION AU SOL / ESQUEMA DE MONTAJE DEL JUEGO DE FIJACIÓN EN EL SUELO

Elementi
Components
Éléments
Elementos:

Base di stabilizzazione (A)
Stabilizer base (A)

Base de stabilisation (A)
Base de estabilización (A)

Vite autofilettante (B)
Self-tapping screw (B)

Vis auto-taraudeuse (B)
Tornillo autorroscante (B)

Tassello (C)
Screw anchor (C)

Cheville(C)
Taco (C)

Tappo metallico (D)
Metal cap (D)

Bouchon métallique (D)
Tapón metálico (D)

Con l’ausilio di un trapano, eseguire 3 fori 
sulla superficie o pavimentazione dove si 
vuole fissare l’articolo.

Drill 3 holes on the surface or floor in the 
desired position for the pot.

À l'aide d'une perceuse, réaliser 3 trous dans 
la superficie ou le revêtement de sol où vous 
désirez fixer l'article.

Con la ayuda de un taladro, realizar tres 
agujeros sobre la superficie o el suelo, 
donde se desea fijar el artículo.

Inserire nei fori praticati i 3 tasselli 
e fissare la base con le 3 viti 
in dotazione.

Insert the 3 screw anchors in the holes 
and fix the base with the 3 screws 
provided. 

Enfoncer 3 chevilles dans les trous 
réalisés et fixer le socle à l'aide des 
3 vis fournies.

Introducir los tres tacos en los agujeros y 
fijar la base con los tres tornillos de serie.

Avvitare il tappo metallico sul fondo 
del vaso con l’aiuto di una moneta.

Use a coin to screw the metal cap 
into the hole in the bottom of the pot. 

Visser le bouchon métallique sur le 
fond du vase à l'aide d'une pièce 
de monnaie. 

Enroscar el tapón metálico en el fondo 
del macetero con la ayuda de una moneda.

Avvitare il manufatto plastico sul perno filettato 
della base di stabilizzazione come indicato 
nel disegno. Quando il manufatto plastico va in 
appoggio al suolo, non compiere più di 2 giri 
(non forzare).

Screw the plastic pot onto the threaded pin on 
the stabiliser base as illustrated. When the 
plastic object is positioned on the ground, 
do not rotate more than twice (do not force it).

Visser le vase en plastique sur la tige filetée du 
socle suivant les instructions du dessin. 
Quand la partie en plastique touche le sol, ne 
pas faire plus de 2 tours (ne pas forcer). 

Enroscar el componente de plástico sobre el 
perno roscado de la base de estabilización 
como se indica en el dibujo. Cuando el 
componente de plástico se apoya en el suelo, 
no dar más de dos vueltas (no esforzar).

Capovolgere l’articolo e, utilizzando un 
cacciavite, svitare il tappo filettato in plastica 
trasparente (materiale PC) al centro del fondo.

Turn the pot upside down and use a 
screwdriver to unscrew the threaded clear 
plastic (PC) cap from the centre of the bottom. 

Retourner le vase et, à l'aide d'un tournevis, 
dévisser le bouchon fileté en plastique 
transparent (en matière PC) au centre 
du fond. 

Girar el artículo y desenroscar el tapón 
roscado de plástico transparente 
(material PC) en la parte central del fondo 
usando un destornillador.

A

A

D

B

C

ET365 10/2014

 JETLAG FAMILY

(B)
6 x
Vite M8
M8 screw
Vis M8
Tornillos M8

(A)
3 x
Staffa metallica
Metal bracket
Bride métallique
Placa de unión metálica

(C)
3x
Tassello
Screw anchor
Cheville
Taco

(D)
3x 
Vite autofilettante
Self-tapping screw
Vis taraudeuse
Tornillo autorroscantes

A

C

A

D

B

Elementi / Components / Éléments / Elementos:

Ground fixing kit

Jetlag
Jetlag Chair

A4449

DETAILS

x3

 JETLAG FAMILY

(B)
6 x
Vite M8
M8 screw
Vis M8
Tornillos M8

(A)
3 x
Staffa metallica
Metal bracket
Bride métallique
Placa de unión metálica

(C)
3x
Tassello
Screw anchor
Cheville
Taco

(D)
3x 
Vite autofilettante
Self-tapping screw
Vis taraudeuse
Tornillo autorroscantes

A

C

A

D

B

Elementi / Components / Éléments / Elementos: x3

 JETLAG FAMILY

(B)
6 x
Vite M8
M8 screw
Vis M8
Tornillos M8

(A)
3 x
Staffa metallica
Metal bracket
Bride métallique
Placa de unión metálica

(C)
3x
Tassello
Screw anchor
Cheville
Taco

(D)
3x 
Vite autofilettante
Self-tapping screw
Vis taraudeuse
Tornillo autorroscantes

A

C

A

D

B

Elementi / Components / Éléments / Elementos:

x6

 JETLAG FAMILY

(B)
6 x
Vite M8
M8 screw
Vis M8
Tornillos M8

(A)
3 x
Staffa metallica
Metal bracket
Bride métallique
Placa de unión metálica

(C)
3x
Tassello
Screw anchor
Cheville
Taco

(D)
3x 
Vite autofilettante
Self-tapping screw
Vis taraudeuse
Tornillo autorroscantes

A

C

A

D

B

Elementi / Components / Éléments / Elementos:
x3

Dried sand kit

indoor

outdoor

covered outdoor

legend

spaces

technical data

20 — 21 PLUST for Educational



green A2

A2
orange A5

A5
yellow A6

A6
red A9

A9

ashen

N2
golden rust

N4

blue

11
emerald green

43
fuchsia

74
acid green

86
nero perla

87

green A7

A7

rosemary

L4
sandy

M9

yellow B3

B3

curry yellow

C9
tortora

G9

green B7

B7

orange C1

C1
white C2

C2

PE - STANDARD FINISHINGS

sky blue B1

B1 Polyethylene top + polyurethane foam

indoor

TOP COLOURS

curry yellow

C9

pearl black

87

ashen

N2

golden rust

N4

sandy

M9
tortora

G9
indoor/outdoor

white C2

C2

PE - BASIC COLOURS TOP

BLACK - indoor/outdoorWHITE - indoor/outdoor

TOP FINISHINGS

NATURAL BIRCH PLYWOOD - covered outdoor

HPL HIGH PRESSURE LAMINATE HPL HIGH PRESSURE LAMINATE

WOOD

PE - SPECIAL COLORS on demand

white-blue

N6
white-orange

L7
white-yellow

N7
white-green

P0
white-fucsia

N8
white-emerald 

green

N9

black-blue

P1
black-orange

P2
black-yellow

P3
black-green

P6
nero-fucsia/

P4
black-emerald 

green

P5

Funny white

Industrial black

Special edition available 
exclusively for Gumball armchair 
and Gumball armchair/sofa junior.

PE - SPECIAL EDITION

The images and the indicated data in our catalogue are approximate. Euro3plast spa reserves the right to effect any changes or improvements,
to the illustrated articles, also without notice. For further information, our trade departments are at your disposal.

All measures are understood in centimeters.



a brand of euro3plast spa
Viale del Lavoro, 45 - 36048
Ponte di Barbarano (VI) - Italy
T +39 0444 788200
www.plust.com
info@plust.com


